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Directions:  Circle or completely mark through the letter of the one most correct alterna​tive.

1.
A dial test indicator can be used to align work in a lathe to less than 0.001" runout if the workpiece is held: 

a.
In a standard 3 jaw chuck. 


b.  In a standard 4 jaw chuck.

c.
Both (a) and (b) are correct. 

d.  Neither (a) nor (b) are correct

2.
The jaws usually work in unison in a: 

a.
3 jaw chuck.  



b.  4 jaw chuck.

c.
Face plate. 




d.  Lathe center.

3.
The jaws usually work independently in a: 

a.
3 jaw chuck. 



b.  4 jaw chuck.

c.
Face plate. 




d.  Lathe center.

4.
A ball bearing lathe center used in the tailstock is an example of:

a.
A live center. 



b.  A dead center.

c.
An axial center. 



d.  A radial center.

5.
A solid lathe center used in the headstock spindle is an example of: 

a.
A live center. 



b.  A dead center.

c.
An axial center. 



d.  A radial center.

6.  A solid lathe center used in the tailstock quill is an example of: 

a.
A live center. 



b.  A dead center.

c.
An axial center. 



d.  A radial center.

7.
The tool used to drive a workpiece mounted between centers  is called a(n): 

a.
Dog. 





b.  Collet.

c.
Driver. 




d.  Drift.

8.
One of the two parameters used to designate the size of an  engine lathe is its: 

a.
Spindle bore diameter. 


b.  Swing radius over the carriage.

c.
Swing diameter over the ways. 

d.  Maximum spindle RPM.

9.
The front part of the engine lathe's carriage that contains the feed engagement clutch handle and split nut handle is called the: 

a.
Apron. 




b.  Saddle.

c.
Carriage face. 



d.  Carriage control panel.

10.
Lathe cutting tool travel along the work parallel to the bed ways of a lathe is referred to as what kind of feed? 

a.
Cross. 




b.  Longitudinal.

c.
Taper. 




d.  Straight.
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